Shell	Price	Bulk Price	Qty	Total	Total Bulk	
Alphabet Cone	\$7.00	10 for \$60	113	\$791.00	\$681.00	
Alphabet Cone -Prime	\$10.00		21	\$210.00	\$210.00	
Alphabet Cone - Chocolate	\$10.00	10 for \$90	82	\$820.00	\$740.00	
Alphabet Cone - Prime Chocolate	\$15.00	10 for \$135	75	\$1,125.00	\$975.00	
Alphabet Cone - Private Stock Special/Letters	\$20.00		17	\$340.00	\$340.00	
Alphabet Cone - Private Stock Words (Ave/Fry/Yes/Fay/Awesome/Asia/Icee)	\$25.00	\$30	10	\$250.00	\$265.00	
American Star Shell (Coco Plum Beach Marathon, FL)	\$2.50		9	\$22.50	\$22.50	
Angel Wing Under 2"	\$3.00		12	\$36.00	\$36.00	
Angel Wing 2-3"	\$5.00		5	\$25.00	\$25.00	
Angel Wing 3-4"	\$7.00		8	\$56.00	\$56.00	
Angel Wing 4-4.75" (1 w/ Barnacles)	\$9.50		4	\$38.00	\$38.00	
Angel Wing 4.75-5"	\$12.50		1	\$12.50	\$12.50	
Angel Wing 5-5.5"	\$16.00		15	\$240.00	\$240.00	
Angel Wing (up to 6.7") Over 5.5" (w/ Barnacles)	\$20.00		1	\$20.00	\$20.00	
Angel Wing - Blemish/ (Specify Size Preference Barnacles etc.)	\$2.00		11	\$22.00	\$22.00	
Angel Wing - Average - Shell Starter Set / (Specify Size Preference Barnacles etc.)	\$4.00		30	\$120.00	\$120.00	
Angel Wing - Campeche (up to 5")	\$7.00			\$0.00		
Angel Wing - Fallen (up to 2.8")	\$10.00			\$0.00		\Box
Angel Wing - False (up to 2")	\$4.00	5 for \$18	38	\$152.00	\$138.00	
Angel Wing - False (up to 2") - Hinged	\$12.50		5	\$62.50	\$62.50	
Angel Wing - Misc.	\$3.00		7	\$21.00	\$21.00	
Apple Murex	\$1.00	20 for \$16	306	\$306.00	\$240.00	
Apple Murex - Large/Prime	\$4.00	5 for \$16	91	\$364.00	\$292.00	
Arks - Blood	\$0.75			\$0.00		
Arks - Mossy	\$0.75	20 for \$13	146	\$109.50	\$95.50	
Arks - Mossy - Prime	\$1.50	10 for \$13.5	24	\$36.00	\$33.00	
Ark - Ponderous under 1"	\$0.75		21	\$15.75	\$15.75	
Ark - Ponderous	\$0.75	10 for \$6.75	102	\$76.50	\$69.00	
Ark - Ponderous Hinged under 1"	\$2.00		3	\$6.00	\$6.00	
Ark Ponderous - Hinged 1-2"	\$2.25		4	\$9.00	\$9.00	
Ark Ponderous - Hinged 2+"	\$2.50		1	\$2.50	\$2.50	
Arks - Transverse	\$0.75		16	\$12.00	\$12.00	
Arks - Transverse - Hinged	\$2.00		9	\$18.00	\$18.00	
Arks - Turkey Wing	\$1.00	25 for \$20	176	\$176.00	\$141.00	
Arks - Turkey Wing - Prime	\$4.00	10 for \$36	41	\$164.00	\$148.00	
Auger	\$0.50	40 for \$17	97	\$48.50	\$42.50	
Autographed Sunray Venus	\$8.00		10	\$80.00	\$80.00	
Banded Tulip	\$1.00	30 for \$25	238	\$238.00	\$208.00	
Banded Tulip - Prime	\$3.00		30	\$90.00	\$90.00	
Brittle Seastar	\$10.00	\$15	2	\$20.00	\$20.00	
Bruised Nassau	\$0.50		4	\$2.00	\$2.00	
Bubble Shell	\$0.35	10 for \$3	124	\$43.40	\$37.40	
Cabrits Murex EXTREMELY RARE	\$28.00			\$0.00		
Cantharus -Ribbed	\$0.75	10 for \$7	49	\$36.75	\$34.75	
Cantharus - Prime/Candy	\$1.50		12	\$18.00	\$18.00	
Cantharus - Tinted	\$1.00	10for \$9	25	\$25.00	\$23.00	
Cardita	\$0.75	10 for \$7	119	\$89.25	\$83.75	
Cardita - Hinged	\$2.00		3	\$6.00	\$6.00	
Cat's/Kitten Paws	\$0.25	50 for \$10	457	\$114.25	\$91.75	

Cat's/Kitten Paws - Hinged	\$2.50	10 for \$22.50	25	\$62.50	\$62.50	
Cerith - Carribean	\$2.00	10 101 \$22.30	0	\$0.00	\$0.00	
Cerith - Dark	\$0.75	25 for \$15	56	\$42.00	\$34.50	
Cerith -Fly Specked Fossilized/Old/Dwarf	\$0.20	20 101 \$25	40	\$8.00	\$8.00	
Chestnut Turbin	\$1.00		1	\$1.00	\$1.00	
Chestnut Turbin - Prime	\$3.00		5	\$15.00	\$15.00	
Clam - Atlantic Surf	\$1.00		17	\$17.00	\$7.00	
Clam - Bittersweet	\$0.50		61	\$30.50	\$25.50	
Clam - Buttercup Lucine	\$1.00	10 for \$9	149	\$149.00	\$135.00	
Clam - Calico	\$1.00	10 for \$9	173	\$173.00	\$156.00	
Clam - Calico Hinged	\$3.00		2	\$6.00	\$6.00	
Clam - Carribean Reef Clam	\$1.00		31	\$31.00	\$31.00	
Clam - Channeled Duck	\$2.00		18	\$36.00	\$36.00	
Clam - Cross Barred Venus	\$0.40	10 for \$3	85	\$34.00	\$26.00	
Clams - Cross Barred Venus - Hinged	\$2.00		4	\$8.00	\$8.00	
Clam - Disc Venus	\$1.00			\$0.00		
Clam - DiscDosinia/Elephant	\$1.00		2	\$2.00		
Clam - DiscDosinia/Elephant - Hinged	\$2.50		5	\$12.50	\$12.50	
Clam - Lady In Waiting	\$1.00		11	\$11.00	\$11.00	
Clam - Lady In Waiting - Hinged	\$2.50		2	\$5.00	\$5.00	
Clam - Southern Quahog	\$1.50		3	\$4.50	\$4.50	
Clam - Southern Quahog - Hinged	\$3.50		1	\$3.50	\$3.50	
Clam - Southern/Norther Quahog - Prime/Wampum	\$10.00		1	\$10.00	\$5.00	
Clam - Northern Quahog	\$2.50		6	\$15.00	\$15.00	
Cockle - Atlantic Giant	\$2.00	10 for \$18	86	\$172.00	\$156.00	
Cockle - Atlantic Giant - Hinged	\$5.00		12	\$60.00	\$60.00	
Cockle - Common	\$1.00		3	\$3.00	\$3.00	
Cockle - Morton's Egg - RARE	\$5.00		2	\$10.00	\$10.00	
Cockle - Morton's Egg - Hinged - VERY RARE	\$15.00			\$0.00		
Cockle - Painted - SEMI RARE	\$2.50		9	\$22.50	\$22.50	
Cockle - Prickly	\$1.00	10 for \$9	125	\$125.00	\$113.00	
Cockle - Prickly - Hinged	\$2.50			\$0.00		
Cockle - Yellow Prickly	\$1.00	10 for \$9	60	\$60.00	\$54.00	
Cockle - Yellow Prickly - Hinged	\$2.50			\$0.00		
Coffee Melampus - SLIGHTLY RARE	\$3.00		6	\$18.00	\$18.00	
Coquina	\$0.25	10 for \$2.25	93	\$23.25	\$21.00	
Coquina Hinged	\$0.75	10 for \$7	170	\$127.50	\$119.00	
Coral Pieces (Finger/Norther Cup/Ivory Bush) - Small	\$1.00	10 for \$9	126	\$126.00	\$114.00	
Coral Pieces (Finger/Norther Cup/Ivory Bush) - Medium	\$2.00	10 for \$18	136	\$272.00	\$246.00	
Coral Pieces (Finger/Norther Cup/Ivory Bush) - Large	\$4.00	10 for \$36	55	\$220.00	\$200.00	
Coral Pieces (Finger/Norther Cup/Ivory Bush) - Xtra Large	\$10.00	\$40	11	\$110.00	\$250.00	
Coral Pieces - Misc & Rocks	\$1.00		7	\$7.00	\$7.00	
Corrugated Jewel Box	\$0.75	10 for \$7	63	\$47.25	\$44.25	
Crab - Blue	\$8.00			\$0.00		
Crab - Calico/Leopard/Box Crab	\$15.00		1	\$15.00	\$15.00	
Crab - Claws/Legs (Calico/Flame/Tiny)	\$0.40		25	\$10.00	\$10.00	
Crab - Fiddler	\$5.00			\$0.00		
Crab - Flame Box Crab	\$20.00			\$0.00		
Crab - Florida Swimming Crab	\$8.00		1	\$8.00	\$8.00	
Crab - Ghost Crab	\$10.00			\$0.00		

Crab - Longnose Spider	\$15.00		4	\$60.00	\$60.00	
Crab Pieces (Calico/Flame/Spotted)	\$0.25	10 for \$2	84	\$21.00	\$17.00	
Crab - Spotted	\$20.00	·		\$0.00	· · · · · · · · · · · · · · · · · · ·	
Crab - Stone	\$10.00		2	\$20.00	\$20.00	
Crab - Tiny	\$1.00		13	\$13.00	\$13.00	
Crab Tops (Blue/Calico/Flame/Spider)	\$1.25	5 for \$5	19	\$23.75	\$20.00	
Crab -X	\$25.00			\$0.00	·	
Dove Snail	\$2.00		4	\$8.00	\$8.00	
Drill - Gulf Oyster	\$0.75			\$0.00		
Drill - Sharp Ribbed	\$2.50		8	\$20.00	\$18.00	
FFC Light - Regular	\$1.00	10 for \$8	67	\$67.00	\$55.00	
FFC Light - Prime (+Orange Lip)	\$2.00	10 for \$18	96	\$192.00	\$176.00	
FFC - Albino RARE	\$60.00		1	\$60.00	\$60.00	
FFC - Albino - Juvi RARE	\$50.00		1	\$50.00	\$50.00	
FFC - Dark - Regular	\$1.25	10 for \$9	46	\$57.50	\$43.50	
FFC - Dark - Prime (+Orange Lip)	\$3.00	10 for \$27	109	\$327.00	\$297.00	
FFC - Fossilized	\$2.50		1	\$2.50	\$2.50	
FFC - Juvi	\$0.50	10 for \$4.50	200	\$100.00	\$90.00	
FFC - Juvi Lg	\$0.75	10 for \$7	65	\$48.75	\$45.75	
FFC- Purple Lipped - SLIGHTLY RARE	\$10.00	5 for \$40	23	\$230.00	\$190.00	
FFC Purple & White Lipped - Juvenile - RARE	\$35.00		1	\$35.00	\$35.00	
FFC Purple & White Lipped - Average - SEMI RARE	\$30.00	10 for \$270	10	\$300.00	\$270.00	
FFC Purple & White Lipped - Blemished - SEMI RARE	\$25.00	10 for \$225	9	\$225.00	\$225.00	
FFC Purple & White Lipped - Good - SEMI RARE	\$35.00	10 for \$315	25	\$875.00	\$805.00	
FFC Purple & White Lipped - Great - SEMI RARE	\$40.00	10 for \$360	23	\$920.00	\$840.00	
FFC Zigzag	\$5.00		16	\$80.00	\$80.00	
Florida Cone (with barnacles too if requested)	\$2.50	10 for \$20	91	\$227.50	\$182.50	
Florida Cone - Prime	\$5.00		28	\$140.00	\$140.00	
Gaudy Nautica Colorful Moon Snail	\$2.50	10 for \$20	75	\$187.50	\$152.50	
Gaudy Nautica Colorful Moon Snail - Prime	\$5.00	10 for \$45	29	\$145.00	\$135.00	
Gold Banded Cone - MOST RARE! Minimum \$5000 & Up	\$5,000.00			\$0.00		
Hornsnail (Ladder) Shell	\$1.00	10 for \$9		\$0.00		
Horse Conch - Candy Corn (size varies)	\$5.00	5 for \$20	40	\$200.00	\$160.00	
Horse Conch Pony under 1"	\$3.00	10 for \$27	149	\$447.00	\$405.00	
Horse Conch 1-1 1/2"	\$4.00	10 for \$36	171	\$684.00	\$616.00	
Horse Conch 1 1/2 - 2"	\$6.00	10 for \$54	105	\$630.00	\$570.00	
Horse Conch 2-3"	\$8.00	5 For \$35	36	\$288.00	\$258.00	
Horse Conch 3-4"	\$10.00		1	\$10.00	\$10.00	
Horse Conch 4-5"	\$16.00			\$0.00		
Horse Conch 5-6"	\$23.00			\$0.00		
Horse Conch 6-7"	\$31.00			\$0.00		
Horse Conch 7-8"	\$40.00	fossilized	1	\$40.00	\$20.00	
Horse Conch 8-9"	\$50.00		1	\$50.00	\$50.00	
Horse Conch 9-10"	\$60.00		2	\$120.00	\$100.00	
Horse Conch 10-11"	\$70.00		2	\$140.00	\$140.00	
Horse Conch 11-12"	\$82.00		2	\$164.00	\$164.00	
Horse Conch 12-13"	\$96.00			\$0.00		
Horse Conch - 13"	\$110.00			\$0.00		
Horse Conch 14"	\$125.00			\$0.00		
Horse Conch 15"	\$145.00			\$0.00		

Horse Conch 16"	\$165.00			\$0.00		
Horse Conch 17"	\$185.00			\$0.00		
Horse Conch 18"	\$205.00			\$0.00		
Horse Conch 19"	\$230.00			\$0.00		
Horse Conch 20"	\$260.00			\$0.00		
Horse Conch 21"	\$300.00			\$0.00		
Horse Conch 22"	\$350.00			\$0.00		
Horse Conch 23"	\$420.00			\$0.00		
Horse Conch 24	\$500.00			\$0.00		
Horse Muscle - Southern	\$1.00	10 for \$9	104	\$104.00	\$94.00	
Horse Muscle - Southern - Hinged	\$2.50		2	\$5.00	\$5.00	
Horse Muscle - Green Extremely Rare!!!	\$150.00			\$0.00		
Horseshoe Crab Molts - Small	\$2.00		6	\$12.00	\$12.00	
Horseshoe Crab Molts - Med	\$5.00		3	\$15.00	\$15.00	
Horseshoe Crab Molts - Large	\$10.00		1	\$10.00	\$10.00	
Horseshoe Crab Molts - Extra Large	\$20.00		2	\$40.00	\$40.00	
Jasper Cone - Slightly Rare	\$5.00		9	\$45.00	\$45.00	
Jingle - Black	\$0.40	10 for \$3	151	\$60.40	\$45.40	
Jingle - Brown	\$0.40	10 for \$3	14	\$5.60	\$5.00	
Jingle - Clear	\$0.40	10 for \$3	119	\$47.60	\$36.40	
Jingle - Grey	\$0.40	10 for \$3	180	\$72.00	\$54.00	
Jingle - Orange	\$0.40	10 for \$3	882	\$352.80	\$264.80	
Jingle - Yellow	\$0.40	10 for \$3	181	\$72.40	\$54.40	
Junonia - Prime -VERY RARE	\$750.00			\$0.00		
Junonia - Fossil - RARE	\$125.00			\$0.00		
Junonia - 3-3.25" (Estimated Average Condition!)	\$150.00			\$0.00		
Junonia - 3.25-3.50"(Estimated Average Condition!)	\$175.00			\$0.00		
Junonia - 3.50-3.75" (Estimated Average Condition!)	\$200.00			\$0.00		
Junonia - 3.75-4" (Estimated Average Condition!)	\$225.00			\$0.00		
Junonia - 4-4.25" (Estimated Average Condition!)	\$250.00			\$0.00		
Junonia - 4.25-4.50"(Estimated Average Condition!)	\$275.00			\$0.00		
Junonia - 4.5-4.75" (Estimated Average Condition!)	\$300.00			\$0.00		
Junonia - 4.75-5"(Estimated Average Condition!)	\$325.00			\$0.00		
Junonia - 5-5.25" (Estimated Average Condition!)	\$350.00			\$0.00		
Junonia - 5.25-5.50" (Estimated Average Condition!)	\$375.00			\$0.00		
Junonia - 5.50-5.75" (Estimated Average Condition!)	\$400.00			\$0.00		<u> </u>
Junonia - 5.75-6" (Estimated Average Condition!)	\$425.00	16-	_	\$0.00	4005	——
Junonia - Pieces (Price Varies)	\$5.00	\$65	8	\$200.00	\$200.00	<u> </u>
King's Crown Conch	\$2.00	20 for \$36	224	\$448.00	\$404.00	
King's Crown Conch - Barnacled	\$2.00	10 for \$18	21	\$42.00	\$38.00	
King's Crown Conch - Blonde	\$2.00	¢20.445.2	714	\$1,428.00	\$8.00	
King's Crown Conch - Prime	\$10.00	\$29 115.2mm	12	\$120.00	\$120.00	<u> </u>
Lace Murex	\$3.00	10 for \$27	93	\$279.00	\$252.00	
Lace Murex - Albino RARE	\$30.00	10 f 000	1	\$30.00	\$30.00	——
Lace Murex - Prime - small	\$10.00	10 for \$90	31	\$310.00	\$280.00	
Lace Murex - Prime - large	\$15.00	5 for \$65	9	\$135.00	\$125.00	
Leafy or Atlantic Jewel Box - Yellow/Purple/Red	\$2.00		23	\$46.00	\$46.00	
Leafy or Atlantic Jewel Box - Yellow/Purple/Red - Prime	\$5.00		2	\$10.00	\$10.00	
Lightning Whelk - Albino RARE	\$45.00		2	\$0.00	¢10F 00	<u> </u>
Lightning Whelk - Albino - Juvi RARE	\$35.00		3	\$105.00	\$105.00	

Lightning Whelk - Fossilized	\$3.00			\$0.00		
Lightning Whelk - Small under 2.5"	\$0.75	20 for \$13	126	\$94.50	\$82.50	
Lightning Whelk - Medium 2.5-3"	\$1.25	10 for \$10	62	\$77.50	\$62.50	
Lightning Whelk - Chocolate Small under 2.5"	\$1.75	10 for \$15	78	\$136.50	\$119.00	
Lightning Whelk - Chocolate Medium 2.5-3"	\$2.25	10 for \$20	36	\$81.00	\$73.50	
Lightning Whelk 3-4"	\$2.50	10 for \$20	27	\$67.50	\$57.50	
Lightning Whelk Chocolate 3-4"	\$4.00	10 for \$36	36	\$144.00	\$132.00	
Lightning Whelk 4-4.5"	\$6.00		1	\$6.00	\$6.00	
Lightning Whelk Chocolate 4-4.5"	\$7.00			\$0.00		
Lightning Whelk 4.5-5"	\$9.00			\$0.00		
Lightning Whelk Chocolate 4.5-5"	\$11.00			\$0.00		
Lightning Whelk 5-5.5"	\$11.00			\$0.00		
Lightning Whelk Chocolate 5-5.5"	\$13.00			\$0.00		
Lightning Whelk 5.5-6"	\$13.00			\$0.00		
Lightning Whelk Chocolate 5.5-6"	\$15.00			\$0.00		
Lightning Whelk 6-7"	\$19.00			\$0.00		
Lightning Whelk Chocolate 6-7"	\$22.00			\$0.00		
Lightning Whelk Chocolate w/ Barnacles 6-7"	\$24.00			\$0.00		
Lightning Whelk 7-8"	\$27.00			\$0.00		
Lightning Whelk 8-9"	\$34.00			\$0.00		
Lightning Whelk 9-10"	\$40.00			\$0.00		
Lightning Whelk 10-11"	\$50.00		1	\$50.00	\$40.00	
Limpet -Keyhole (Rosy/Cayenne)	\$5.00		3	\$15.00	\$15.00	
Limpet - Barbados Keyhole	\$6.00			\$0.00		
Marginella - Slightly Rare	\$2.50			\$0.00		
Milk Conch - RARE	\$50.00			\$0.00		
Milk Conch - Juvi - RARE	\$30.00			\$0.00		
Mermaid Purse	\$20.00		2	\$40.00	\$40.00	
Modulus	\$0.25		5	\$1.25	\$1.25	
Nutmeg - Albino RARE	\$40.00		3	\$120.00	\$120.00	
Nutmeg	\$2.00	15 for \$25	37	\$74.00	\$64.00	
Nutmeg - Prime	\$5.00		40	\$200.00	\$200.00	
Olive - Dwarf	\$0.20	10 for \$1.50	8	\$1.60	\$1.60	
Olive - Golden	\$20.00			\$0.00		
Olive - Lettered - Jumbo	\$1.50	10 for \$13.50	23	\$34.50	\$31.50	
Olive - Lettered -large (with barnacles too if requested)	\$1.00	10 for \$9	96	\$96.00	\$87.00	
Olive - Lettered - medium	\$0.75	10 for \$7	89	\$66.75	\$62.75	
Olive - Lettered - micro	\$0.25	10 for \$2.25	35	\$8.75	\$8.00	
Olive - Lettered -Netted	\$2.00		19	\$38.00	\$38.00	
Olive - Lettered -small	\$0.50	25 for \$11	147	\$73.50	\$66.00	
Opperculum	\$4.00		4	\$16.00	\$16.00	
Oyster - Eastern	\$2.00	5 for \$9	26	\$52.00	\$47.00	
Oyster - Fron	\$1.00		11	\$11.00	\$11.00	
Oyster - Fron - Hinged	\$2.50		2	\$5.00	\$5.00	
Oyster - Pearl	\$0.75		2	\$1.50	\$1.50	
Oyster - Pearl - Hinged	\$2.00		3	\$6.00	\$6.00	
Oyster - Thorny	\$5.00			4	4	
Paper Fig 1-2"	\$2.00	7 for \$13	11	\$22.00	\$21.00	
Paper Fig 2-2.25"	\$3.00	7 for \$18	6	\$18.00	\$18.00	
Paper Fig 2.25-3"	\$3.95	7 for \$25	33	\$130.35	\$119.75	

Paper Fig 3-4" S5.00 2 \$10.00 \$10.00 Paper Fig 4-5" S5.95 S0.00 Paper Fig 5-4" \$6.95 S0.00 Paper Fig 5-4" \$6.95 S0.00 Paper Fig 5-4" \$6.95 S0.00 Pear Whelk \$2.50 10 for \$22 109 \$277.50 \$240.00 Pear Whelk - Prime \$5.00 14 \$70.00 \$70.00 Pen Shell - Saw-toothed \$1.25 \$0.00 Pen Shell - Saw-toothed \$1.25 \$0.00 Pen Shell - Saw-toothed \$1.25 \$0.00 Pen Shell - Sid \$1.00 \$1 \$1.00 \$1.00 Pen Shell - Sid \$1.00 \$1 \$1.00 \$1.00 Pen Shell - Sid \$1.00 \$1 \$1.00 Pen Shell - Sid \$1.00 \$1.00 Sad and Shell Bottle - Sid \$1.00 \$1.00 Sad and Shell Bottle - Medium \$1	$\neg \neg$
Paper Fig 5+" \$6.95 \$0.00 Part Whelk \$2.50 10 for \$22 109 \$277.50 \$240.00 Part Whelk Prime \$5.00 14 \$70.00 \$70.00 Part Whelk Prime \$5.00 14 \$70.00 \$70.00 Part Shell - Saw-toothed \$1.25 \$0.00 \$70.00 Part Shell - Saw-toothed \$1.25 \$0.00 \$70.00 Part Shell - Saw-toothed \$1.25 \$0.00 \$1 \$3.00 \$3.00 \$1 \$3.00 \$3.00 Part Shell - Stiff \$1.00 \$3.00 \$3.00 Part Shell - Stiff \$1.00 \$3.00 \$3.00 Part Shell - Stiff \$3.00 \$3.00 Part Shell - Stiff \$3.00 \$3.00 Part Shell - Stiff \$3.00 \$3.00 Part Shell	
Pear Whelk	
Pen Shell - Saw-toothed	\neg
Penn Shell - Saw - toothed - Hinged	
Penn Shell - Stiff St.00	\neg
Penn Shell -Stiff - Hinged	
Periwinkle - Cloudy/Mangrove - Slightly RARE	
See Murex Albino - VERY RARE \$89.00 25.6mm \$0.00 Rose Murex based on spikes/size - Average - SEMI RARE \$25.00 6 \$150.00 \$150.00 Rose Murex based on spikes/size - Good - SEMI RARE \$35.00 14 \$490.00 \$490.00 Rose Murex based on spikes/size - Great - SEMI RARE \$35.00 14 \$630.00 \$630.00 Rose Murex based on spikes/size - Great - SEMI RARE \$45.00 14 \$630.00 \$630.00 Rose Murex based on spikes/size - Great - SEMI RARE \$45.00 14 \$630.00 \$630.00 Rose Murex based on spikes/size - Great - SEMI RARE \$45.00 14 \$630.00 \$630.00 Sand and Shell Bottle - Small Micro Shells \$25.00 \$0.00 \$225.00 Sand and Shell Bottle - Small Micro Shells \$35.00 1 \$35.00 \$35.00 Sand and Shell Bottle - Medium \$55.00 1 \$75.00 \$75.00 Sand and Shell Bottle - Large \$75.00 1 \$75.00 \$75.00 Sand and Shell Bottle - Xiarge \$125.00 \$0.00 Sand and Shell Magnetic Display Case - Micros \$50.00 1 \$50.00 \$50.00 Sand and Broken Shell Bottle - Small \$25.00 \$25.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 \$25.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00	\Box
Rose Murex based on spikes/size - Average - SEMI RARE \$25.00 \$150.00 \$150.00	
Rose Murex based on spikes/size - Good - SEMI RARE \$35.00 14 \$490.00 \$490.00 Rose Murex based on spikes/size - Great - SEMI RARE \$45.00 14 \$630.00 \$630.00 Sand and Shell Bottle - Small \$40.00 6 \$240.00 \$285.00 i Sand and Shell Bottle - Xtra Small/Micro Shells \$25.00 \$0.00 \$25.00 \$35.00 1 \$35.00<	\neg
Rose Murex based on spikes/size - Great - SEMI RARE \$45.00 14 \$630.00 \$630.00	
Sand and Shell Bottle - Small \$40.00 6 \$240.00 \$285.00 i Sand and Shell Bottle - Xtra Small/Micro Shells \$25.00 \$0.00 \$25.00 \$35.0	
Sand and Shell Bottle - Xtra Small/Micro Shells \$25.00 \$0.00 \$25.00 Sand and Shell Bottle - Small Micro Shells \$35.00 1 \$35.00 \$35.00 Sand and Shell Bottle - Medium \$55.00 \$0.00 \$0.00 Sand and Shell Bottle - Large \$75.00 1 \$75.00 \$75.00 Sand and Shell Bottle - Xlarge \$125.00 \$0.00 <	
Sand and Shell Bottle - Small Micro Shells \$35.00 1 \$35.00 \$35.00 Sand and Shell Bottle - Medium \$55.00 \$0.00 \$0.00 Sand and Shell Bottle - Large \$75.00 1 \$75.00 \$75.00 Sand and Shell Bottle - Xlarge \$125.00 \$0.00 <t< th=""><th></th></t<>	
Sand and Shell Bottle - Medium \$55.00 \$0.00 Sand and Shell Bottle - Large \$75.00 1 \$75.00 \$75.00 Sand and Shell Bottle - Xlarge \$125.00 \$0.00	\Box
Sand and Shell Bottle - Large \$75.00 1 \$75.00 \$75.00 Sand and Shell Bottle - Xlarge \$125.00 \$0.00 \$0.00 Sand and Shell Magnetic Display Case - Micros \$50.00 1 \$50.00 \$50.00 Sand and Broken Shell Bottle - Small \$25.00 1 \$25.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 \$0.00 Sand and Broken Shell Bottle - Large \$50.00 2 \$100.00 \$100.00	\Box
Sand and Shell Bottle - Xlarge \$125.00 \$0.00 Sand and Shell Magnetic Display Case - Micros \$50.00 1 \$50.00 \$50.00 Sand and Broken Shell Bottle - Small \$25.00 1 \$25.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 \$0.00 Sand and Broken Shell Bottle - Large \$50.00 2 \$100.00 \$100.00	\neg
Sand and Shell Magnetic Display Case - Micros \$50.00 1 \$50.00 \$50.00 Sand and Broken Shell Bottle - Small \$25.00 1 \$25.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 \$0.00 Sand and Broken Shell Bottle - Large \$50.00 2 \$100.00 \$100.00	
Sand and Broken Shell Bottle - Small \$25.00 1 \$25.00 \$25.00 Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 \$0.00 Sand and Broken Shell Bottle - Large \$50.00 2 \$100.00 \$100.00	\Box
Sand and Broken Shell Bottle - Medium \$35.00 \$0.00 Sand and Broken Shell Bottle - Large \$50.00 2 \$100.00 \$100.00	\neg
Sand and Broken Shell Bottle - Large \$50.00 2 \$100.00 \$100.00	
Sand and Broken Shell Bottle - Xlarge \$80.00 \$0.00	
	\Box
Sand Dollar - Arrowhead \$7.00 \$0.00	
Sand Dollar - Bleached \$6.00 10 for \$50 47 \$282.00 \$244.00	
Sand Dollar - Doves \$0.50 25 for \$10 87 \$43.50 \$34.50	
Sand Dollar - Extra Large/Inflated \$8.00 7 \$56.00 \$56.00	
Sand Dollar - Fossilized/Turtle/Petosky Special Pattern \$8.00 3 \$24.00 \$24.00	
Sand Dollar - Natural \$5.00 10 for \$40 32 \$160.00 \$130.00	
Sand Dollar - Natural Gift Box (14) \$55.00 1 \$55.00 \$55.00	
Sand Dollar - Pancake \$10.00 \$0.00	
Sand Dollar - Sea Bisquit \$8.00 \$0.00	
Sand Dollar - Special Micro \$8.00 \$20 7 \$56.00	
Sand Dollar - With Barnacles \$5.00 5 for \$22 23 \$115.00 \$103.00	
Sanibel Turrid \$2.00 2 \$4.00 \$4.00	
Scallops - Bay - Assortment (25) \$20.00 8 \$160.00 \$160.00	
Scallops - Bay \$1.00 10 for \$9 87 \$87.00 \$79.00	
Scallops - Bay - Prime \$3.00 10 for \$27 53 \$159.00 \$144.00	
Scallops - Black/Grey (Chemical Reaction) \$0.75 10 for \$7 104 \$78.00 \$73.00	
Scallops - Black/Grey (Chemical Reaction) - Assortment (25) \$15.00 6 \$90.00 \$90.00	
Scallops - Calico - Assortment (50) \$20.00 5 for \$80 21 \$420.00 \$340.00	
Scallops - Calico - Regular Calico (50) \$10.00 3 \$30.00 \$30.00	
Scallops - Calico - Barnacled \$0.50 10 for \$4 74 \$37.00 \$30.00	
Scallops - Calico - Colorful \$0.25 25 for \$5 939 \$234.75 \$188.50	
Scallops - Calico - Colorful - Prime \$2.00 5 for \$9 267 \$534.00 \$481.00	
Scallops - Calico - Hinged \$5.00 9 \$45.00 \$45.00	
Scallops - Calico - Orange - Assortment (25) \$20.00 6 \$120.00 \$120.00	
Scallops - Calico - Orange \$1.00 10 for \$9 223 \$223.00 \$201.00	

Scallops - Calico - Orange - Prime	\$3.00		20	\$60.00	\$60.00	
Scallops - Calico - Sunray/Sunburst - Assortment (25)	\$20.00		1	\$20.00	\$20.00	
Scallops - Calico - Sunray/Sunburst	\$1.00	10 for \$9	134	\$134.00	\$121.00	
Scallops - Calico - Sunray/Sunburst - Prime	\$5.00		10	\$50.00	\$50.00	
Scallops - Flat (Babies)	\$7.50		9	\$67.50	\$67.50	
Scallops - Flat (Round Ribbed)	\$5.00			\$0.00	<u> </u>	
Scallops - Flat (Round Ribbed) - Prime	\$14.00			\$0.00		
Scallops - Flat (Zigzag)	\$7.00		3	\$21.00	\$7.00	
Scallops - Flat (Zigzag) - Prime	\$16.00			\$0.00		
Scallops - Flat (Private Stock)	\$25.00			\$0.00		
Scallops - Lemon Pecten RARE	\$10.00			\$0.00		
Scallops - Rough - Assortment (25)	\$20.00		6	\$120.00	\$120.00	
Scallops - Rough	\$1.00	10 for \$9	94	\$94.00	\$85.00	
Scallops - Rough - Orange	\$2.00	10 for \$18	2	\$4.00	\$40.00	
Scallops - Scaly	\$1.00			\$0.00		
Scallops - Sentis - RARE	\$2.50			\$0.00		
Scotch Bonnet - RARE SWFL	\$6.00			\$0.00		
Sea Glass Austrailia - Small	\$1.00	10 for \$8	129	\$129.00	\$105.00	
Sea Glass Australia - Medium	\$2.00	10 for \$15	28	\$56.00	\$46.00	
Sea Glass Australia - Large	\$3.00		1	\$3.00	\$3.00	
Sea Glass Cozumel - Small	\$1.00	10 for \$8	69	\$69.00	\$57.00	
Sea Glass Cozumel - Medium	\$2.00	10 for \$15	10	\$20.00	\$15.00	
Sea Glass Keychains	\$9.00		8	\$72.00	\$72.00	
Sea Glass Lake Erie - Small	\$1.00	10 for \$8	64	\$64.00	\$52.00	
Sea Glass Lake Erie - Medium	\$2.00	5 for \$8	18	\$36.00	\$30.00	
Sea Glass Lake Erie - Large	\$3.00	5 for \$12	7	\$21.00	\$18.00	
Sea Glass Maine - Medium	\$4.00		4	\$16.00	\$16.00	
Sea Glass SWFL - Small	\$2.50		28	\$70.00	\$70.00	
Sea Glass SWFL - Medium	\$4.00		22	\$88.00	\$88.00	
Sea Glass SWFL - Large	\$6.00		9	\$54.00	\$54.00	
Sea Glass SWFL - Extra Large	\$10.00		4	\$40.00	\$40.00	
Sea Glass Tumbled - Small	\$0.50	20 for \$8	133	\$66.50	\$55.50	
Sea Glass Tumbled - Medium	\$1.00	10 for \$8	70	\$70.00	\$56.00	
Sea Glass Tumbled - Large	\$1.50	5 for \$7	12	\$18.00	\$17.00	
Sea Glass Uranium - Small	\$2.00	10 for \$15	74	\$148.00	\$101.00	
Sea Glass Uranium- Medium	\$6.00		2	\$12.00	\$12.00	
Sea Glass Uranium - Large	\$9.00			\$0.00	\$36.00	
Sea Beans - Nickernuts/Nickerbean	\$5.00	10 for \$45		\$0.00		
Sea Beans - Hamburger Bean	\$7.50	10 for \$45		\$0.00		
Sea Horse	\$20.00			\$0.00		
Semele- Orangish	\$2.00		11	\$22.00	\$22.00	
Semele- Orangish Hinged	\$5.00		1	\$5.00	\$5.00	
Semele - Orangish - Prime!	\$8.00		5	\$40.00	\$40.00	
Semele - Purplish	\$2.00		38	\$76.00	\$76.00	
Semele- Purplish Hinged	\$5.00		2	\$10.00	\$10.00	
Semele - Purplish - Prime!	\$8.00		3	\$24.00	\$24.00	
Semele- White/Pinkish	\$0.75	10 for \$7	99	\$74.25	\$69.75	
Semele- White/Pinkish Hinged	\$3.00		14	\$42.00	\$42.00	
Shark Eyes/False/Moonsnail	\$1.00	10 for \$9	157	\$157.00	\$142.00	
Shark Eyes - Large	\$5.00	\$15	17	\$85.00	\$85.00	

Table Type Paul Reversal S\$0.00 28 S\$1.00 S	Shark Eyes - Merle	\$8.00			\$0.00		
Part Prince Pri	•	·		18		\$54.00	
Same	,						
Section Sect	•	·					
Inhabsteeth - Fragments	,	\$1.50		7	\$10.50	\$10.50	
harbstseteth - Small harbstseteth - Small harbstseteth - Small harbstseteth - Small harbstseth - Small harbstseth - Small harbstseth - Large harbsts - Large harbstseth - Large harbstse		\$0.25				•	
Inhabstateth - Medium	Sharksteeth - Small				<u> </u>		
Section Sect	Sharksteeth - Medium	·					
hield Mix by The Pound - Lange Broken	Sharksteeth - Large	\$4.00			\$0.00	-	
hield Mix By The Pound - Samage Broken \$10.00 1 \$10.00 \$50.00 \$10	Shell Mix By The Pound - Small Broken	\$20.00		1	\$20.00	\$20.00	
Intel Mix by The Pound - Small Whole Shells \$50.00	Shell Mix By The Pound - Large Broken	\$10.00		1	\$10.00	\$10.00	
	Shell Mix By The Pound - Small Whole Shells			1	\$50.00	\$50.00	
Intellistance Set Orange - 1.0 different SVFT. Shells \$18.0.0 9 \$156.200 \$180.0.0	Shell Mix By The Pound - Large Whole Shells	\$25.00		1	\$25.00	\$25.00	
	Shell Mix - Jewelry Pieces (purple with white lip/rose petal tellins, horse muscles, etc.)	\$0.00			\$0.00		
Intell Starter Set Vellow-40 different SWFL Shells	Shell Starter Set Orange - 10 different SWFL Shells	\$18.00		9	\$162.00	\$180.00	
See	Shell Starter Set Blue- 20 different SWFL Shells	\$30.00		10	\$300.00	\$350.00	
Intell Starter Set Orange Add On -10 SWFL Shells		\$55.00		10	\$550.00	\$600.00	
	Shell Starter Set Green - 50 different SWFL Shells	\$80.00		10	\$800.00	\$900.00	
	Shell Starter Set Orange Add On -10 SWFL Shells	\$15.00		10	\$150.00	\$150.00	
	Shell Starter Set Blue Add On -10 SWFL Shells	\$13.00		10	\$130.00	\$130.00	
Silppersnall - Atlantic \$0.50	Shell Starter Set Yellow Add On -20 SWFL Shells	\$27.00		10	\$270.00	\$270.00	
Silppersnall - Spiny	Shell Starter Set Green Add On -10 SWFL Shells	\$25.00		10	\$250.00	\$250.00	
Silpersnall - Spotted	Slippersnail - Atlantic	\$0.50	10 for \$4.50	135	\$67.50	\$61.00	
Spiny Jewel Box	Slippersnail - Spiny	\$1.00	10 for \$9	36	\$36.00	\$33.00	
Spiny Jewel Box \$0.50 10 for \$4 319 \$159.50 \$129.50 \$10 piny Jewel Box - Prime \$2.00 5 for \$9 16 \$32.00 \$23.00	Slippersnail - Spotted	\$2.00	10 for \$18	23	\$46.00	\$42.00	
Spiny Jewel Box - Prime	Spiny Jewel Box	\$0.50	10 for \$4	319	\$159.50	\$129.50	
Spiny Jewel Box - Prime - Hinged \$10.00 \$22.00 \$22.000	Spiny Jewel Box - Hinged	\$2.00	5 for \$9	16	\$32.00	\$29.00	
Spiny Jewel Box - Prime - Hinged \$10.00 \$22.00 \$22.000	Spiny Jewel Box - Prime	\$4.00	10 for \$36	62	\$248.00	\$224.00	
Starfish - small S15.00 S0.00	Spiny Jewel Box - Prime - Hinged	\$10.00		22	\$220.00	\$220.00	
Starfish - large Starfish -	Stearns Cone/ Dusky Cone RARE - RARE	\$25.00		3	\$75.00	\$75.00	
Sunray Venus Sinuray Venus	Starfish - small	\$15.00			\$0.00	\$0.00	
Sunray Venus - Hinged \$4.50 \$5 for \$20 26 \$117.00 \$104.50 Fagelus - Purplish \$1.00 10 for \$9 46 \$46.00 \$42.00 Fagelus - Purplish - Hinged \$3.00 \$0.00 Fagelus - Purplish - Hinged \$3.00 \$0.00 Fagelus - Atlantic \$1.00 \$0.00 Fagelus - Atlantic \$0.00 \$0.00 Fagelus - Atlant	Starfish - large	\$30.00		1	\$30.00	\$15.00	
Sagelus - Purplish Sagelus - Purplish Sagelus - Purplish - Hinged Sagelus - Atlantic Sagelus - Purplish - Hinged Sagelus - Purplish - Purplish - Hinged Sagelus - Purplish - Purplish - Hinged Sagelus - Purplish - Hinged Sagelus - Purplish - Pu	Sunray Venus	\$1.00	10 for \$9	90	\$90.00	\$81.00	
Sagelus - Purplish - Hinged \$3.00 \$0.00	Sunray Venus - Hinged	\$4.50	5 for \$20	26	\$117.00	\$104.50	
Fegula - Atlantic \$1.00 \$0.00	Tagelus - Purplish	\$1.00	10 for \$9	46	\$46.00	\$42.00	
Sellin - Alternate Sellin - Alternate Sellin - Alternate - Hinged Sellin - Alternate - Hinged Sellin - Candy Stik Sellin - Candy Stik - Hinged Sellin - Candy Stik - Hinged white rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged white with rainbow effect Sellin - Candy Stik - Hinged Sellin - Can	Tagelus - Purplish - Hinged	\$3.00			\$0.00		
Fellin - Alternate - Hinged \$0.00	Tegula - Atlantic	\$1.00			\$0.00		
Section - Candy Stik Section - Candy Stik Section - Candy Stik - Hinged Section - Candy Stik - Hinged Section - Section - Candy Stik - Hinged Section - Se	Tellin - Alternate				\$0.00		
Fellin - Candy Stik - Hinged	Tellin - Alternate - Hinged				\$0.00		
Fellin - Candy Stik - White with rainbow effect \$2.00 \$0.00 \$0.00 Fellin - Candy Stik - Hinged white with rainbow effect \$5.00 \$0.00 Fellin - Rose Petal \$0.50 \$25 for \$10 \$379 \$189.50 \$152.00 Fellin - Rose Petal - Hinged \$2.00 \$5 for \$9 \$30 \$60.00 \$54.00 Fellin - Rose Petal - Drilled \$0.50 \$18 \$9.00 \$9.00 Fellin - Rose Petal - Tiny \$0.75 \$5 \$3.75 \$3.75 Fellin - Rose Petal - Tiny Hinged \$2.00 \$5 \$0.25 \$20 for \$4 \$146 \$36.50 \$29.50 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$2.00 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$0.25 \$2.00 Fellin - Rose Petal - White \$0.25 \$0.2	Tellin - Candy Stik	\$4.00			\$0.00		
Solid Soli	Tellin - Candy Stik - Hinged	\$10.00		6	\$60.00	\$60.00	
Solution	Tellin - Candy Stik -White with rainbow effect	\$2.00			\$0.00		
Sellin - Rose Petal - Hinged \$2.00 5 for \$9 30 \$60.00 \$54.00 Tellin - Rose Petal - Drilled \$0.50 18 \$9.00 \$9.00 Tellin - Rose Petal - Tiny \$0.75 5 \$3.75 \$3.75 Tellin - Rose Petal - Tiny Hinged \$2.00 5 \$10.00 Tellin - Rose Petal - White \$0.25 20 for \$4 146 \$36.50 \$29.50 Tellin - Rose Petal - White \$0.25 \$0.00 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 Tellin - Rose Petal - White \$0.25 \$0.00 Tellin - Rose Petal - White \$0.00	Tellin - Candy Stik - Hinged white with rainbow effect	\$5.00			\$0.00		
fellin - Rose Petal - Drilled \$0.50 18 \$9.00 \$9.00 fellin - Rose Petal - Tiny \$0.75 5 \$3.75 \$3.75 fellin - Rose Petal - Tiny Hinged \$2.00 5 \$10.00 \$10.00 fellin - Rose Petal - White \$0.25 20 for \$4 146 \$36.50 \$29.50	Tellin - Rose Petal	\$0.50	25 for \$10	379	\$189.50	\$152.00	
Fellin - Rose Petal - Tiny \$0.75 5 \$3.75 \$3.75 Fellin - Rose Petal - Tiny Hinged \$2.00 5 \$10.00 \$10.00 Fellin - Rose Petal - White \$0.25 20 for \$4 146 \$36.50 \$29.50	Tellin - Rose Petal - Hinged	\$2.00	5 for \$9	30	\$60.00	\$54.00	
Tellin - Rose Petal - Tiny Hinged \$2.00 5 \$10.00 \$10.00 Tellin - Rose Petal - White \$0.25 20 for \$4 146 \$36.50 \$29.50	Tellin - Rose Petal - Drilled	\$0.50		18	\$9.00	\$9.00	
Fellin - Rose Petal - White \$0.25 20 for \$4 146 \$36.50 \$29.50	Tellin - Rose Petal - Tiny	\$0.75			\$3.75	\$3.75	
	Tellin - Rose Petal - Tiny Hinged	\$2.00		5	\$10.00	\$10.00	
Fellin - Rose Petal - White Hinged \$1.25 5 for \$5 43 \$53.75 \$43.75	Tellin - Rose Petal - White	\$0.25	20 for \$4	146	\$36.50	\$29.50	
	Tellin - Rose Petal - White Hinged	\$1.25	5 for \$5	43	\$53.75	\$43.75	

Tellin - Tampa				\$0.00		
Top Snail	\$0.50	10 for \$4	263	\$131.50	\$105.50	
Top Snail - Large	\$1.50		12	\$18.00	\$18.00	
Turrets	\$1.00			\$0.00		
True Tulip - large	\$35.00	N/A	16	\$560.00	\$560.00	
True Tulip - medium	\$20.00	5 for \$90	26	\$520.00	\$470.00	
True Tulip - RED/ORANGE RARE	\$35.00		10	\$350.00	\$350.00	
True Tulip - small	\$10.00	4 for \$36	23	\$230.00	\$210.00	
Urchin - Mud Heart Urchin RARE	\$10.00		6	\$60.00	\$60.00	
Urchin - Pieces	\$0.25		57	\$14.25	\$14.25	
Urchin - Top	\$3.00			\$0.00		
Urchin - Test	\$8.00		1	\$8.00	\$8.00	
Urchin - Whole	\$15.00		1	\$15.00	\$15.00	
Wenteltrap (Angulate/Humphrey's/many-ribbed/brown/lamellose) RARE	\$7.50		40	\$300.00	\$300.00	
Worm Shell/West Indian/FL - Large - Over 2"	\$1.00	10 for \$9	73	\$73.00	\$66.00	
Worm Shell/West Indian/FL - Medium - 1-2"	\$0.50	20 for \$9	246	\$123.00	\$111.00	
Worm Shell/West Indian/FL - Small- Under 1"	\$0.25	20 for \$4	145	\$36.25	\$29.25	
MWIP BRACELETS - Bob Squad	\$5.00		8	\$40.00	\$40.00	
MWIP BRACELETS - Faith	\$5.00		5	\$25.00	\$25.00	
MWIP BRACELETS - Happy	\$5.00		1	\$5.00	\$5.00	
MWIP BRACELETS - Hope	\$5.00		6	\$30.00	\$30.00	
MWIP BRACELETS - Joy	\$5.00		5	\$25.00	\$25.00	
MWIP BRACELETS - Love	\$5.00		13	\$65.00	\$65.00	
MWIP BRACELETS - Mod Squad	\$5.00		8	\$40.00	\$40.00	
MWIP BRACELETS - Specialty	\$5.00		18	\$90.00	\$100.00	
MWIP BRACELETS - mywalksinparadise	\$5.00		8	\$40.00	\$45.00	
MWIP COFFEE MUGS	\$20.00		9	\$180.00	\$160.00	
MWIP LANYARD/KEYCHAIN - Faith	\$5.00		5	\$25.00	\$25.00	
MWIP LANYARD/KEYCHAIN - Hope	\$5.00		4	\$20.00	\$20.00	
MWIP LANYARD/KEYCHAIN - Love	\$5.00		8	\$40.00	\$40.00	
MWIP LANYARD/KEYCHAIN - Mod Squad	\$5.00		2	\$10.00	\$10.00	
MWIP LANYARD/KEYCHAIN - MYWALKSINPARADISE	\$5.00		7	\$35.00	\$35.00	
MWIP LARGE ZIP COTTON BEACH TOTE	\$30.00		1	\$30.00	\$30.00	
MWIP Water Bottle - Life is short go to the beach	\$5.00		5	\$25.00	\$40.00	
MWIP Water Bottle - The beach is calling and I must go	\$5.00		3	\$15.00	\$15.00	
Shells of Florida-Gulf of Mexico: A Beachcomber's Guide to Coastal Areas	\$12.00		4	\$48.00	\$48.00	
TOTAL			15,625	\$36,522.40	\$32,808.50	
TOTAL			15,625	\$30,322.40	332,808.30	
			\$500-\$749 20%		332,808.30	

Apple Murex

Ark - Turkey Wing

Banded Tulip

Clam - Buttercup Lucine

Clam - Calico

Cockle - Giant

Moon Snail - Colorful (Gaudy Nautica)

Horse Conch (under 1")

Scallop - Orange

Sunray Venus

10 Shell Starter Set

\$20.00

Apple Murex

Ark - Turkey Wing

Banded Tulip

Clam - Buttercup Lucine

Clam - Calico

Cockle - Giant

Moon Snail - Colorful (Gaudy Nautica)

Horse Conch (under 1")

Scallop - Orange

Sunray Venus

Clam - Rose Petal Tellin

Cockle - Yellow Prickly

Florida Fighting Conch - Light

Florida Fighting Conch - Dark

Moon Snail - Sharks Eye

Lace Murex

Lettered Olive (small)

Lightning Whelk (small)

Pear Whelk

Scallop - Sunray

20 Shell Starter Set

\$35.00

Apple Murex

Ark - Turkey Wing

Banded Tulip

Clam - Buttercup Lucine

Clam - Calico

Cockle - Giant

Moon Snail - Colorful (Gaudy Nautica)

Horse Conch (under 1")

Scallop - Orange

Sunray Venus

Clam - Rose Petal Tellin

Cockle - Yellow Prickly

Florida Fighting Conch - Light

Florida Fighting Conch - Dark

Moon Snail - Sharks Eye

Lace Murex

Lettered Olive (small)

Lightning Whelk (small)

Pear Whelk

Scallop - Sunray

Alphabet Cone

Auger

Ark - Ponderous

Atlantic Slipper

Bubble Shell

Cardita

Cat's Paw

Cerith

Clam - Cross Barred Venus

Coral - Small

Spiny Jewel Box

Jingle

King's Crown Conch

Nutmeg

Scallop - Bay

Scallop - Colorful Calico

Scallop - Rough

Semele - White/Pinkish

Top Snail

Worm Shell (1-2" MED)

Apple Murex

Ark - Turkey Wing

Banded Tulip

Clam - Buttercup Lucine

Clam - Calico

Cockle - Giant

Moon Snail - Colorful (Gaudy Nautica)

Horse Conch (under 1")

Scallop - Orange

Sunray Venus

Clam - Rose Petal Tellin

Cockle - Yellow Prickly

Florida Fighting Conch - Light

Florida Fighting Conch - Dark

Moon Snail - Sharks Eye

Lace Murex

Lettered Olive (small)

Lightning Whelk (small)

Pear Whelk

Scallop - Sunray

Alphabet Cone

Auger

Ark - Ponderous

Atlantic Slipper

Bubble Shell

Cardita

Cat's Paw

Cerith

Clam - Cross Barred Venus

Coral - Small

Spiny Jewel Box

Jingle

King's Crown Conch

Nutmeg

Scallop - Bay

Scallop - Colorful Calico

Scallop - Rough

Semele - White/Pinkish

Top Snail

Worm Shell (1-2" MED)

Angelwing

Corrugated Jewel Box

Florida Cone

Juvenile FFC (large)

Paper Fig (1-2")

Prickly Cockle

Ribbed Cantharus Sand Dollar - Bleached Spiny Slipper True Tulip (small)

50 Shell Starter Set

\$90.00